


There are 9 white flowers. There are 3 times as
many red flowers as white flowers. How many red
flowers are there?

m Two quantities are compared. One is a
multiple of the other. We know the smaller
quantity. To find the bigger quantity we
multiply 9 x 3.
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| There are 27 red flowers. There are 3 times as
many red flowers as white flowers. How many
white flowers are there?

w Two quantities are compared. One is a
multiple of the other. We know the bigger
quantity. To find the smaller quantity we
divide 27 + 3.

9




There are 27 red flowers and 9 white flowers. How
many times as many red flowers as white flowers

are therer?

m Two quantities are compared. One is a
multiple of the other. We know both
quantities. To find the multiplier we divide 27
+ 9. 5
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Fraction models

Kelley buys 24 flowers. 2/3 of them are white.
- How many white flowers are there?

24

Try onel |
m David spent 2/5 of his money on a storybook. The

storybook cost $20. How much money did he have
at first?




